
Part Description EAU

10011 SCREW, NEEDLE CLAMP 2000

10234 WASHER, SPRING-5/16 ID 4000

10250 SCREWDRIVER, STUBBY -AVIN 2000

12026 SCREW, SOC SET #10-32 X 1/4 CO 2000

15076 WASHER, SPRING (BELLEVILLE) 2000

15077 WASHER, NYLON SPECIAL 2000

15150 SCREW, SOC CAP 10-32 UNF 7/8 2000

18621 THRUST WASHER, 5/8 ID, CLIPPER 2000

18731 WASHER, NYLON,1/4 ID,1/2 OD, . 4000

18820 WASHER,FLAT10,.44OD,.20ID,.03T 2000

31026 SCREW,HEX 1/4-28X1/2GR8 LG LOK 2000

31042 WASHER, THRUST (MOD) 2000

67693 'RING, RETAINING E-STYLE (1/4' 2000

67877 WASHER, NYLON, 0.63 IDX0.812OD 2000

1-178 NUT, FLEX LOCK 10-32 1280

A3934 WASHER, IDLER 1280

B103214 SCREW, BINDER HD 10-32 X 1/4 2544

B103214SS SCREW, BINDER HD #10-32 X 1/4 100

B103238 SCREW, BINDER HD 10-32 X 3/8 2544

B103238SS SCREW, BINDER HD #10-32 X 3/8, 100

B632316 SCREW,BINDER HD6-32X3/16 75010 2544

F103212 SCREW, FLAT HD 10-32 X 1/2 2544

F103238 SCREW, FLAT HD 10-32 X 3/8 2544

F103258 SCREW, FLAT HD 10-32 X 5/8 2544

F348316 SCREW, FLAT HD #3-48 X 3/16 11680

F348516 SCREW, FLAT HD #3-48 X 5/16 11680

F54038 SCREW, FLAT HD 5-40 X 3/8 2544

F63212 SCREW, FLAT HD #6-32 X 1/2 100

F63214 SCREW, FLAT HD 6-32 X 1/4 BO 2544

F63214SS SCREW, FLAT HD #6-32 X 1/4 SS 100

F64038 SCREW, FLAT HD #6-40 X 3/8 17520

F83212 SCREW, FLAT HD #8-32 X 1/2 300

F83214 SCREW, FLAT HD 8-32 X 1/4 2200

F83238 SCREW, FLAT HD #8-32 X 3/8 100

H103212 SCREW, HEX HD #10-32 X 1/2 CZ 11680

H103212SS SCREW, HEX HD #10-32 X 1/2 SS 100

H103234 SCREW,HEX HD 10-32X3/4 CZ G8 300

H103234SS SCREW, HEX HD #10-32 X 3/4 SS 100

H103258 SCREW, HEX HD #10-32 X 5/8 CZ 300

H103258SS SCREW, HEX HD #10-32 X 5/8 SS 100

H103278 SCREW,HEX HD 10-32X7/8 CZ G8 2544

H103278SS SCREW, HEX HD #10-32 X 7/8 SS 200

H142034 BOLT, HEX HD 1/4-20 X 3/4 CZ G 100

H3816114 BOLT,HEX HD 3/8-16X1 1/4 CZ G5 773

H3824134 BOLT,HEX HD 3/8-24X1 3/4 CZ G5 1272

H3824134SS SCREW, HEX HD 3/8-24 X 1 3/4 S 100

NH1420 NUT, HEX 1/4-20 UNC 1272

NH1420SS NUT, HEX 1/4-20 UNC SS (2529) 100

NH1428 NUT, HEX 1/4-28 UNF 100



NH1428L NUT, HEX 1/4-28 UNF NL 1272

NH1428LSS NUT, HEX 1/4-28 UNF NL SS 100

NH832 NUT, HEX #8-32 UNC 2843

NJ1220HH NUT, JAM 1/2-20 HALF HEIGHT TH 100

NJ1428 NUT, HEXJAM 1/4-28 UNF 100

NJ3816 NUT, HEX JAM 3/8-16 UNC ZINC 100

P-10052 SEAL, WASHER - VALVE PLUG 1280

P-10087 SCREW, PIVOT - KNIFE 604

P-10215 WASHER, THRUST 1280

P-10406 WASHER, HEAD - CYLINDER 100

P-10428 WASHER, THRUST 2920

P-10438 WASHER, COMPRESSION 100

P-10440 SCREW, ADJ.-HDLS.SLOTTED 14283 100

P-10760 LABEL, WARNING-BREATHER SCREW 1280

P-11006 WASHER, THRUST-MAINSHAFT(MOD E 8760

P-11120 'WASHER, SPLIT LOCK 1/4'' LT T 5840

P-11268 NUT, LOCK 3/8-24 UNF 1280

P-11410 WASHER, FELT 2920

P-11608 NUT, HEX JAM 5/16-24 UNF 2920

P-11655 WASHER, SPRING-.265 IDX.551 OD 2920

P-11804 SCREW, 1/4-20 UNC 2866

P-11805 NUT, WING-WASHER BASE-1/4-20 5732

P-15066 WASHER, THRUST-.312 ID X .750 1280

P-15108 SCREW,SOC SET 1/4-20 UNCX3/8 200

P-15109 SCREW, SOC SET 1/4-20 X 3/8 CO 100

P-31064 WASHER, THRUST (HI-SP) 100

P-31137 SCREW, TAPPING 4 X 3/8 AB 2560

P-31261 LOW HD SOC CAP SCREW 8-32X3/8 100

P-31286 WASHER, #4, OD .25, ID 1/8, ZI 100

P54058 SCREW, PAN HD #5-40 X 5/8 SS 100

P540916 SCREW, PAN HD 5-40 X 9/16 SS 2444

P632316SS SCREW, PAN HD 6-32 X 3/16 SS 100

PD5161 PIN, DOWEL 5/16 X 1 100

PD516114 PIN, DOWEL 5/16 X 1-1/4 1272

PHM2.58 SCREW, PAN HEAD M2.5 X 8MM 100

PS18114 PIN, SPRING 1/8 X 1 1/4 LG 1280

PS1812 PIN, SPRING 1/8 X 1/2 2000

SB103212 SCREW, SOC BTTN #10-32 X 1/2 B 11252

SB103212SS SCREW, SOC BTTN #10-32 X 1/2 S 200

SB103214 SCREW, SOC BTTN 10-32 X 1/4 BO 23360

SB103238 SCREW, SOC BTTN #10-32 X 3/8 B 200

SB103258 SCREW, SOC BTTN #10-32X5/8 200

SB1420112 SCREW, SOC BTTN 1/4-20 X 1 1/2 100

SB142012 SCREW, SOC BTTN 1/4-20 X 1/2 B 100

SB142038 SCREW, SOC BTTN 1/4-20 X 3/8 B 200

SB142058 SCREW, SOC BTTN 1/4-20 X 5/8 B 200

SB632316 SCREW, SOC BTTN 6-32 X 3/16 BO 23360

SB64014 SCREW, SOC BTTN 6-40 X 1/4 BO 2000

SB832114 SCREW, SOC BTN 8-32 X 1 1/4 BO 5840

SB83212 SCREW, SOC BTTN #8-32 X 1/2 BO 5672



SB83214 SCREW, SOC BTTN 8-32 X 1/4 BO 17612

SB83238 SCREW, SOC BTTN #8-32 X 3/8 BO 100

SB832516 SCREW, SOC BTTN 8-32 X 5/16 BO 2550

SBM510 SCREW, SOC BUTTON M5 X 10MM 100

SC10321 SCREW, SOC CAP #10-32 X 1 BO 2000

SC103212 SCREW, SOC CAP 10-32 X 1/2 BO 300

SC103212LH SCREW, SOC CAP LOW-HD 10-32X1/ 400

SC103212SS SCREW, SOC CAP #10-32 X 1/2 SS 200

SC103234 SCREW, SOC CAP 10-32 X 3/4 BO 2560

SC103234SS SCREW, SOC CAP #10-32 X 3/4 SS 200

SC103238 SCREW, SOC CAP #10-32 X 3/8 BO 100

SC103258 SCREW, SOC CAP #10-32 X 5/8 BO 200

SC103258SS SCREW, SOC CAP #10-32 X 5/8 SS 200

SC103278 SCREW, SOC CAP 10-32 X 7/8 BO 2560

SC103278SS SCREW, SOC CAP #10-32 X 7/8 SS 200

SC1420114 SCREW, SOC CAP 1/4-20 X 1 1/4 4000

SC14201L SCREW, SOC CAP 1/4-20 X 1 NYLO 300

SC142034 SCREW, SOC CAP 1/4-20 X 3/4 BO 11680

SC142034SS SCREW, SOC CAP 1/4-20 X 3/4 SS 200

SC142038 SCREW, SOC CAP 1/4-20 X 3/8 BO 300

SC142058 SCREW, SOC CAP 1/4-20 X 5/8 BO 4000

SC142078 SCREW, SOC CAP 1/4-20 X 7/8 BO 200

SC14281SS SCREW, SOC CAP 1/4-28 X 1 SS 100

SC142878 SCREW, SOC CAP 1/4-28 X 7/8 BO 2544

SC44034 SCREW, SOC CAP #4-40 X 3/4 BO 5672

SC440716 SCREW, SOC CAP #4-40X7/16 BO 100

SC516181 SCREW, SOC CAP 5/16-18 X 1 BO 2544

SC516181SS SCREW, SOC CAP 5/16-18 X 1 SS 200

SC5161834SS SCREW, SOC CAP 5/16-18 X 3/4 S 200

SC5161858 SCREW,SOC CAP 5/16-18X5/8 BO 2544

SC54012 SCREW, SOC CAP #5-40 X 1/2 BO 11680

SC54014 SCREW, SOC CAP #5-40 X 1/4 BO 2000

SC54038 SCREW, SOC CAP #5-40X3/8 BO 100

SC540516 SCREW, SOC CAP #5-40X5/16 BO 100

SC63214 SCREW, SOC CAP #6-32X1/4 BO 100

SC63234 SCREW, SOC CAP 6-32 X 3/4 BO 2544

SC63234SS SCREW, SOC CAP 6-32 X 3/4 SS 100

SC63238 SCREW, SOC CAP #6-32 X 3/8 BO 158

SC64058 SCREW, SOC CAP #6-4O X 5/8 BO 11680

SC8321 SCREW, SOC CAP #8-32 X 1 BO 5840

SC83212 SCREW, SOC CAP #8-32 X 1/2 BO 35040

SC83214 SCREW, SOC CAP #8-32 X 1/4 BO 17520

SC83238 SCREW, SOC CAP #8-32 X 3/8 BO 100

SC832516 SCREW, SOC CAP #8-32X5/16 BO 100

SC83258 SCREW, SOC CAP #8-32 X 5/8 BO 2000

SCM1022 SCREW, SOC CAP M10 X 22MM 100

SCM618 SCREW, SOC CAP M6 X 18MM 100

SCM825 SCREW, SOC CAP M8 X 25MM 100

SF103212 SCREW, SOC FLAT #10-32 X 1/2 B 200

SF103212SS SCREW, SOC FLAT #10-32 X 1/2 S 100



SF103238 SCREW, SOC FLAT #10-32 X 3/8 B 31208

SF103238SS SCREW, SOC FLAT #10-32 X 3/8 S 200

SF103258 SCREW,SOC FLAT 10-32X5/8 BO 200

SF103258SS SCREW, SOC FLAT 10-32 X 5/8 SS 200

SF54014 SCREW, SOC FLAT #5-40X1/4 BO 200

SF54038SS SCREW, SOC FLAT 5-40 X 3/8 SS 100

SF63214SS SCREW, SOC FLAT #6-32 X 1/4 SS 100

SF64038 SCREW, SOC FLAT #6-40 X 3/8 BO 2920

SF83212 SCREW, SOC FLAT #8-32 X 1/2 BO 200

SF83214SS SCREW, SOC FLAT 8-32 X 1/4 L ( 100

SF83238 SCREW, SOC FLAT #8-32 X 3/8 BO 2843

SF832516 SCREW, SOC FLAT #8-32 X 5/16 B 5840

SFM412 SCREW, SOC FLAT M4 X 12MM 100

SFM416 SCREW, SOC FLAT M4 X 16MM 100

SFM48 SCREW, SOC FLAT M4 X 8MM 100

SFM510 SCREW, SOC FLAT M5 X 10MM 100

SS10321 SCREW, SOC SET #10-32 X 1 UNBR 4000

SS103212 SCREW, SOC SET 10-32 X 1/2 BO 4000

SS103214 SCREW, SOC SET #10-32 X 1/4 BO 300

SS103214CP SCREW,SOC SET 10-32X1/4 CP BO 2560

SS1032316 SCREW, SOC SET #10-32 X 3/16 B 5840

SS1032516 SCREW,SOC SET 10-32X5/16 KC BO 2560

SS1032516SS SCREW, SOC SET #10-32 X 5/16 S 100

SS103258 SCREW, SOC SET 10-32 X 5/8 BO 2368

SS103258CP SS103258CPLSCREW,SOC SET10-32 2000

SS142012 SCREW, SOC SET 1/4-20 X 1/2 BO 200

SS142012SS SCREW, SOC SET 1/4-20 X 1/2 SS 200

SS142014 SCREW, SOC SET 1/4-20 X 1/4 BO 2560

SS142038 SCREW, SOC SET 1/4-20 X 3/8 BO 2544

SS38241 SCREW, SOC SET 3/8-24 X 1 BO 2000

SS44014 SCREW, SOC SET #4-40X1/4 BO 100

SS44018 SCREW, SOC SET #4-40X1/8 BO 200

SS440316 SCREW, SOC SET #4-40X3/16 BO 100

SS54018 SCREW, SOC SET #5-40 X 1/8 BO 100

SS64038FP SCREW, SOC SET #6-40 X 3/8 FP 2000

SS83218 SCREW, SOC SET 8-32 X 1/8 200

SS832316 SCREW, SOC SET #8-32 X 3/16 BO 2444

SS832316CP SCREW,SOC SET 8-32X3/16 CP BO 2444

SSM46 SCREW, SOC SET M4 X 6MM 100

T3129 WASHER,THRUST .752 IDX1.240 OD 1225

WF10 WASHER, FLAT #10 4000

WF14 WASHER, FLAT 1/4 1272

WF14SS WASHER, FLAT 1/4 SS (2577) 200

WF38 WASHER, FLAT 3/8 (WROUGHT) 2544

WF38SS WASHER, FLAT 3/8 SS (2930) 200

WF4SS WASHER, FLAT #4 SS 200

WF5 WASHER, FLAT 5 1272

WF6 WASHER, FLAT #6 2000

WF8 WASHER, FLAT #8 5840

WFM10 WASHER, FLAT M10 100



WFM12 WASHER, FLAT M12 100

WFM6 WASHER, FLAT M6 100

WFM8 WASHER, FLAT M8 200

WIT10 WASHER, INTERNAL TOOTH #10 5840

WIT516 WASHER, INTERNAL TOOTH 5/16 5840

WIT8 WASHER, INTERNAL TOOTH #8 2897

WL10 WASHER, LOCK #10 5840

WL12 WASHER, LOCK 1/2 200

WL14 WASHER, LOCK 1/4 200

WL38 WASHER, LOCK 3/8 1546

WL5 WASHER, LOCK #5 2000

WL516SS WASHER, LOCK 5/16 SS (2585) 200

WL6 WASHER, LOCK #6 100

WL8 WASHER, LOCK #8 100

WN10 WASHER, NYLON 10 1280

WN8 WASHER, NYLON #8 5932

WS10 WASHER, SPRING 10 2544

WS10SS WASHER, SPRING #10 SS 100

WS14 WASHER, SPRING 1/4 11680

WS8 WASHER, SPRING #8 2920

WT38132 WASHER THRUST NEEDLE LEVER 5840


